a_xa =a ra =—r=a
am

Find the missing value in the box for each of the following equations:

a) 3:81 b)4=64 _

e) SE =78125
v

Simplify each of the following expressions in exponential form:

D
27T
a)l8X25: ) / b)—3?: /
7
Solve for the unknown variable “x” in each of the following expressions:
a) 3" =81 b) 2* =256
X =L Y= %
3* 62112 '
d) 243=— | ) —=1024"
3 2
' / ‘/
X = (\fi X - L+

Find the value of variable in each of the following equations:
6
53 =729-3 b 4°% =128

)X 7
2z~ L »C) _v'z

/- Cx=T ‘/

"’/ = ; >< bl ’é
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o 25%% =78125- 5 b 36°T3 =7776-6

X o030 2L ~ ¥ 9 . 20473 .5
4= <= 7 = lb Ku&ni : 2 =g Hx=1 6 = b ot =S
2’%:’ 4
v vV T
\ L ! =T
r<1 x= 4 X=-7
5. Find the value of variable in each of the following equations: 8

LC . 3 ; "‘"bx ‘
4x(16):64'“l-( b) (32)&') :81”J £—128 ;&‘

c) -
g 2%
(L 3 ‘ . ; |
Tosl e 323" e 25
X= | \/;; .2 37 ra y
V . 2 / /
A= 1 X== X =7

1 -1, 3> )
y (4er )(25) 65536 ot = o(E2Y e
R e 9% - 32t 47
Zx 2 % "o bx - (2x -6 x-2x+ b 3,3
2 5" a 2747 Sy 4§
- — % )T 2
! 2 _h R
2x 477 =16 ?//L} 9 ,_ ) —
X==2 i Y= | 7< B
-3 -
6. Given the equation, find the smallest value of x+y: IR = 134
Sx

b) 3969° = x09¥

3 \3
0.0 f42 A2
M6 = (7 )
J e [

a. 12% =2%3y
(/ \ )
4

7. Solve for “x” in each of the following equations:

-1
x4 V4 % ' 312 Yo~ 33x+1
(I e ]

322 7293 9*
Lfy - - L«l(upr: 1k l ¢ X J oo A ) B b ]
‘j Y - ¥ N oL f 3 32 \
Y3 (S y - 2010 | 7~\,§§mﬂ.’ sz —




8. If x’yz’ =7* and xy* =7° then what is the value of xyz? 1 /
75 ‘L ‘) oY (V] " 3 3

< .f 1 7 19 [X 2
S J % YOTOAT T
e L 5
J (,
9 Solvefor“ . 2(2”) R
2( 46.;
<« 3 i
ot =9 < 4 X=3
10. Let “a” and “b” be real numbers, with @ >1land 5> 0. If ab=a’ and %:a%,
b 1
determine the value of Czb =0 . a. ¥ /| \3b
a3 g 3 -2 g > = [}
b‘o\ (Qb 9 ) e}
19 2 ~ 2 { ]
0’ Lo = ! ! 2 _(1.6\b Iy
5P prab b T 5 B b=b") o=
2 i l -
e —
( g = 2 ] ]
b Qa b V.o T}~ = 0=717F - T s 4 4

11. Challenge: If a =3%, p= 39, ¢=3", and d = 3* and if p,q,r, and s are positive integers,

determine the smallest value of p+q+7+s suchthat: a +5° +¢° = 7 l

r“—:‘ /,, .. 2 S e 3l 0y = =
6 -+ +5 =0 6o |61 P:ub JL;‘“)\) 7
1 ';:‘“ N ! T |al> O
> YD O ) o173, ~ ’% S o (3 5 ! é
12. If x and y are integers with (y 1) =4, then what is the number of possible values for “x”
g 7’
(A) 8 (B) 3 (C) 4 (D) 5 @) 6
b 3 &% ;.3 A
o -4 _" Z
2, 4,38 L4 (=2) , (-8
h‘//\-\\_w
& PSbiitie
\J
13. Suppose N =1+11+101+1001+.. +1000.....000001 (last term has 50 zeroes) When “N” is calculated,
and written as a single integer, what is the sum of its digits?
(A) 50 (B) 99 (€)s  (D)ss (k) 103
- \
&- 1\;)
- (D l
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/ i )( -,"/ S s L ".;’/
)
lbx ~QAY = =X
Y ox =-24
-¥
e M x ==Qu
o =\ D - \,‘1“
-l
T
=¥ //
3'=3 55 6 =6
3 =9 Cr =S b =36
3% =77 5:hs 6 =b
' G
?)Lt"g\ 5‘“: Q’llg E) = (lq(o

ey 5‘5_{ ot R L5- 11k
ERREL 51565 L= 456

?'=0ig T 5 IB\25 L'= 279936
F:Loe  B-oks
35963 5= (95308






